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PHYSICS & CHEMISTRY
TEvAL ARIVIAGA AATKEAL A

For Each multiple choice question four alternatives are given. Out of these alternatives choose the correct
answer and write the answer in the space provided

1.

Due to heavy traffic near the school the department of traffic police wants to install

automatic traffic lights. This can be done by using the Principle of 1x10=10
a) Raman effect b) Radiography c)Holography d) Photoelectric effect

+ATAIL 8% _AZAg zlu eAr EgidizjAz AZAj ¥ER® gh _AIMAZASV CA¥UYEN ©APRI EallzAg.
Ez£l 2iAq®F G¥AIEAV_ 2 w

C) gh2ifi ¥juA®l D) bAAIIA OASE E) ©A AiU& F) ziw «zAivi ¥juh2i

Water is to be sterilized for drinking purpose without using any chemicals this can be done by using
a) u v rays b) visible light c) short wave length radio waves d) long wave length Radio waves
gh_AAikaP 2 JUVEN G¥AIEAV, zA ohgfll 2AzPAgP QiU MY¥r PirAiM@ algell ¥qAil APAVZ
EzPAV 8Y, kaizi

C) £Agvdwiv QgtU%i D) UEAZg “"%Pk E) Prai vgAUz/AEg2@i: gArAiZA vgAUUY

F) ©zi vgAUz/&Eg2ls gArAiZEA vgAUUY:A

In a heat engine the linear motion of the Piston is converted into rotation by the component
a) spark plug b) Carburettor ¢) Crank shaft d) Fuel injection pump

NF QOBTTY ER0ZT (LFT®) Tedeod BOFONT, PHFOIPN TOTEF YT

C) .APid ¥Ui D) PA8Sdgilgi E) 2PaAq F) EAzE£ EAdPEI ¥A¥i

An engineer wants to design an engine to convert 800KJ of heat into 840KJ of useful mechanical work.
The correct statement related to the above engine is that it

a) is less efficient b) is more efficient c¢) cannot be designed d) is 100% efficient

M& EAFoAilgi £4 800 KJ +AR2£EM 840 KJ G¥AIilP AiiAAwBeP® 2AV ¥jawd i2Ave EAFEEN
«£h UEY ®h Eal_ivAE. F EAFalU _A8AC1zAV® _jAiiAz ©hvP

C) Ezi Prai zPv ©EA¢z D) Ezh ©Zk zPv ©£ACz E) Ez£l «£A_UEY% ®L Azic®

3) am 3e100 I, T3 BROOTI

An astrophysics Scientist observes that galaxy ‘A’ is more red shifted than galaxy '‘B'. The conclusion
that can be drawn from this is that

a) the velocity of ‘A" is more than 'B' b) the velocity of 'B' is more than 'A’

c) both the galaxies have equal velocity d) both the galaxies are at rest.

M8 RUEAY “"Ev «ehoAill URQ 'J' JEIRIZA URQ '©' VAV ©Zi PA¥A ¥®1 ©£Ac¢gi@izEl URia AVAE.
EzjAz PIUEY8PIzAz wiRiABERAEAZY

C) 'J' £ aiUal '© VAv °Zi D) '© £ 2iual 'J' VAv ©Zi

E) Jgg& URQUY: 2iual _ai F) Jggk UBQUYA o+® 1wAii°z.
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10.

In an nuclear reactor, the number of cadmium rods used are less than the required number. Then one of
the possibilities is

a) the reactor may explode b) the chain reaction stops

c) number of fissions decrease d) the number of neutrons decrease

MAZA “"EFP QaiAPAjAIA® 8Y1z PArAifA | g¥%dU% _ASHAIM CUVIQAV Prai Ez. EzjAz DUig°PizAz
MAZA _Aziv.

C) QaiAPAJAIM _/EAn_8°hzA D) .g¥% Q&sh oAvi EAULRIZA

E) «z%EUY%: ,AS! PrajAiiluiaizi F) £EmABUY,  AS PrajaiiAuiaizi,

If emission test is required for an L.P.G run auto rickshaw, the availability of oxygen in moles for
combustion of one mole of butane is

a) lessthan5 b) between 8.5 and 9.5

c) between 9.5 and 10.5 d) more than 10.5

zeos ¥mABBAIMABAZ PAAID 028> i CmAAJPAU &g K I& ¥jiP "APAzg 1| 2L 1 8EMAE z©OF
QaiU z/EgPia D2IDEP &R iUY°

C) 5 VAv Praj D) 85 jAz 95

E) 95 jAz 10.5 F) 10.5 QAv ©Zi

In a soap industry the chemist forgets to add sodium chloride during the manufacture of soap, the
possible effect is

a) soap cannot be easily separated b) chemical composition of soap changes

c) soap will not get required colour d) the solubility of soap increases.

_ASEEL PASAGEAIA® gh_ AAikeP vdgh (ASAEEN VAIIA] A2AU | EArAilA PEAGIqi | AJ , ARizER 2igvi
OQiVAE. Ezg ¥julaicAzAUia Azv

C) .ASE££M @ 2iv ¥edQ, ®h DUIRIC® C) _A8EnE gh_ AAiloP _AAIEADE 8§z AUlvz.

E) .A8koU “APAz §t 8§gidic® F) .A8EEL «°Af@iUialzi ©ZiUivz.

Borosilicate glass is used to make school laboratory equipments because it

a) is highly transparent b) with stands sudden changes in the temperature and transparent
c) has high refractive index d) absorbs radiation

+ATAIL ¥aEAUAAIAZ® G¥PgtUYEL 2iAq®h ~AAgEAr>PAmi UAJEN 8Y%_Avig KPAzg EzA

C) ©zh ¥igz+&P D) vA¥z KjuU%EN vgAilivz 2ivi ¥Agz+dP

E) ©Zi 2Q82E EZAPREN CFACZ F) «QutUVEN »AjPAYivzZ.

Using sodium hydroxide as one of the raw materials it is possible to prepare

a) soaps and detergents b) cement and ceramics

c) glass and plastics d) cement and glass

L EArAiMA OigABgqill RZA2 AUY%° MAZAV 8% vAiiAj, ®h  Az@Auidizi
C) ASEEIUYA 2ivi 2iAdSPUYA D) 212iAmi 2ivA 1gA«iPi

E) UAdA 2kvii ¥ATPT UV F) 12jAmi 2ivA UAdA.

Fill in the blanks with suitable terms ,
JEP ¥zU%AZ ongi® | YUY%EN “"wd 2iAr
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1. A p-njunction allows current to pass in one direction this is called____ ” 1x3=3
p-n dAPET «zhivi £ MAZA £Agz° 2iAva®jAilRL ©qivz. F QadhAil ©_gh

12. Rader gun works on the principle of
gAgAgi UET P®, 2iAgia wv

13. The device which converts light energy into electrical energy is
“YQE +QAIMEN «zhvi +QAIIAV ¥j2wd A2 AzE£

14. Match the following/£A¢1 8g-ij: 1x4=4
A B
1. Natural Gas/£f, VP Co® L.P.G/zaev ¥aEBBAIM Ca®
2. Butane/SEMAE explosives/, £AIPUY:A
3. Benzene/ E£FEi to detect leakage of L.P.G/zses ¥awEABAIIA Co® _EAJP ¥v ©Zidiz)
4. Toluene/mA=A£Ei emission test/2/£g_ £ A«<P ¥jAP
Carbon black/PASSEI 21
Perfumes/ _ A2A1P

Exhaust gasiomgs ©e

15. A cyclist going round a curve leans towards the centre of the curve. Give reason 1x6=6
P 2AgEl wgheEe ©EAUIRAU wol«E PAAza PQU 2A®IVAE. EzP PAgt PET.

16.  What is a centrifugal governer?
.AnEiei cAilAvBeJAZgAEL ?

17. What is the colour of the star Betelgeuse?
©Al" T VAT £Pvae 8T3ALL ?

18.  Mention the purpose of using a plane glass sheet in a solar cooker?
_Eg CrU M Aik® UAFE 2MZY2EN 8Y A2 GZA+2EM wht.,

19. How does the pressure cooker help in saving energy? ,
¥amyi PiPgi +QAIMEN GlhvAAik 2iAq®L AU | PAAIMPAJAIIAVZ ?

20. Write the balnced chemical equation of the reaction between sodium carbonate and calcium chloride
b/E/“\rAiAA PA"/EAéf;Am'l' Ajvi PACAIM PEAQIQIUY: £gA<E gA_AAikoP QadlAil  2AvEV1Z gA_AAikaP
. <MPgT2£A 8g—Aj.

21 Write any two factors on which the induced EMF depends 2x9=18
¥hpv «zlivi ZA®P §8® C2RAC1IgIa Aiil2lzAzgE Jgqh CAXUVEN wi,

22. Draw a neat sketch of D.C. Dynamo
r.1. qE2£Az CAz2Az ava&El 8g—ij.

23. What is electromagnetic spectrum?
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24,

25.

26.

217.

28.

29.

30.

3L

32.

a) Name the electromagnetic radiations which has
1. the lowest frequency and
2. lowest wavelength
«zhvi PAAWAAIR gEA»v JAZgAER ?
C) CvAv Prai Daw 2ajvi
D) CVAv Prai vgAUzAg Egid«zlivi PAAWAAIA «QgEtUYVER ©_j.

Draw a neat sketch to show the exhaust stroke of an external combustion engine
WHTFTI BOBYT  “VTWE BRET" T, SRCOAT LOTIOT WIWRY, WICWD.

Give scientific reasons for the following

E2luvU 2ehaP PAgt PEY.

a) lron articles are electroplated with chromium

C) POtz 2 MUVEl PEBiAIlACAZ «zivi ~R¥E 2iAgivig.

b) Calcium silicate is a protective layer for the molten iron in the blast furnace
D) Hzi Pi®i2IAIA° zser POTP PACAIMA 1°Pimi gPuk PRZ2AVgivz.

c) Copper is not used to prepare hydrogen in the laboratory

E) ¥&/EAU A Aike olqBdEi Co®2£N VAIiAJ  ®L vAiRI&EN 8Y_i2lce.

d) Ore of copper is not concentrated by hydraulic washing

F) ©jAilid ahjoAz vEYVAiMRIzg 2MEGP vidiae CEegell  Ag2¢d, [alee.

what is the role of magnesium and dilute hydrochloric acid in the preparation of silicon
1opAET VAIIAJPAIA® 2AVIATAIA 2ivi zA83® ©iqEEREAJPI D2z ¥AVAHEL?

write the steps involved in recycling plastics. “
¥ALPT £ ¥AEQI SYiIPAIA® MUUEArgh2 CAVUZEA 8g—Aj.

Name two types of hardness in water. On what principle can hardness of water be removed?
oAJ£ Ug, ivEz Jggh «zU%EN ©_ 1?2 AiiA2 vz 2k ohj£ Uq, AvE2ER o2igu 2iAg AUlvz?

Draw a circuit symbol of each of the following

a) Forward biased diode b) transistors of n-p-n
F PUPAQ ¥a&Ai£AZPE 2IAQ® APAVREN 8§g-ij.

J. ajiglg - MeIAA - gAiEAqi  ©. n-p-n mAe gi

State the universal law of gravitation . prepare it by a mathematical equation 3x4=12
«+ aji! Ulghv oAilaiagl Ye¥Act Ez£H MAZL | «MPgtz gh¥z° agklz,

What is impure spectrum? Why is Raman scattering called incoherent and Rayleigh scattering called
coherent scattering. On what basis did Raman give satisfactory explanation of incoherent scattering?
CHizl gEA»v JAZgAER? gARIET ZzjP JAZA @i gh~ ZzjPAIREN (A P ZzjP J£livig KP? C_A_P
ZzjPU gh2ifigh AiiAl2 DzAgz 2k _2i¥oPaiz 2ASAIEL chrzgi?

If the present mass of a radio active element is 3.125 gm and its half life period is 8 days. What was its
initial mass before 40 days.
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33.

34.

35

36.

WOTN NBTLO LD FODND @mroﬁma‘%@ 8 QOIND. BN T3 TRRTT S TR T, 00 3.125 MO
Ez. 40 ¢EUY »Az EzA zAVi«E Z%A2 K ¢vA?

Draw a neat diagram of the device that converts nuclear energy into electrical energy.
THP 2QAIMEN «zlivi +QAITAV ¥jawd i _Az£z CAz2Az ava£ll 8gij

State the law of conservation of momentum. “The escape velocity on the earth is 4x3=12
11.2km/s” what does it mean? How are orbital and escape velocities related to

one another? At what height geostationary statellite is launched.

_A2IU _AgPuA wWREH ¥a¥AC1 TE«AIL 2 «2EAZEA 20U _PArU 11.2 Q.«ih. Ezg CXd2AEN?
DWREWTD VNP 3TY VENTRTIS Bert FOLOPIR, TROVTI? m,%éd NTABB, T, FBSY m@&mﬁefo?

How does a protostar attain the steady state? What is a neutron star?
D¢ £Pva LglwAilEl @MU vRI¥ivz? £EmMABS £PvadAzghEL?

Draw a neat diagram of each of the following

1. Blast furnace used to extract iron 2. Electrolytic refining of copper.
E2luv,° ¥aAi£AZPE CAz2iz av&El 8gij.

L POtz Gzgtz® 8% A HzA PIGRIPA 2 =o@s amye ogexme Bescee

BIQLOGY
oA A

FOURALTERNATIVES ARE GIVEN TO EACH STATEMENT CHOOSE THE CORRECT ANSWER
AND WRITE IN THE SPACE PROVIDED |
Yadi£AzL 2APPE £ARN DAIMUYEN cAq AVz. _j Gvg2£l DAIl 2iAr PENgi® | %z®° 8g-ij.

One of the following statements is true. 1x5=5
a) Ragi plant has parallel venation and cotyledon raises above the soil during germination.

b) Ragi plant has parallel venation and cotyledon remains below the soil during germination.

c) Ragi plant has reticulate venation and cotyledon remains below the soil during germination.

d) Ragi plant has reticulate venation and cotyledon raise above the soil during germination.

F P1/4V£aAU1/4° MAZA 24Pi _jAiiAVz

C) giv _ @&l =2ifhAvg £AY «£A, ©EACZA, OAd 2EVAIMRAU ©RdzY: K. gz aji—AUP 8givz.
D) giv . aA LBUEAAVG £AY: «EA, ©EACZH, OAd 2EVAIlSAU ©/?\dz1/4 E. gz PYU GYhAilivz..
E) gAV . .2 el®8Az £A% «£A, ©EACZA, OAd 2EYAINEAU ©AdzY: "k gz P GYAilivz..
F) ghv aA el®8Az £V «£A, ©EACZH, OAd 2AYVAIM2AU OAdzY: ~"E_ gz 2M AUP Sgivz.

A person is advised not to donate blood after being tested for ELISA, because he is infected by
a) HIV B)HBV c¢) HSV d) SIV
aAIM 'J° A ¥JAPU MY¥ID £Avg DVEL gPzAE 2iAgzAv _®° wigq AVz. KPAzg C2al
vUegia _ EAAPA
C.©Zi L« D)®°Zib« E. °Z. J,i « F. J.iL«
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After being pricked by a thorn, a boy withdraws his leg immediately. The center of this action is
a) Cerebrum b) Cerebellum c) Spinalcord d) Hypothallamus

OlqIUEES 2}iVA vilz VPt PAREN »AzP JVizAPAYAVAE. F QadlAil PAAZzae

@) DTOTAF,  C) OVWAZ, Q) DWW WY ) éémwmmx@

Vegetative reproduction found in multicellular alage is a natural process of

a) Cloning b) DNA finger printing c) Genetic engineering d) Recombining DNA
§OIPEAZAIL HARUY® £qAIMa PAAIAD JAWAIA | AVAEAAVW ¥eaalAiMl A A«P

C) PEAAUI D) r.J£iJ. "giiZh E) Vi VAVeAE F) ¥Egi | AAIEAFV r.J£iJ.

Blood report of a 40 year old person indicates high glucose level. He may be at risk of getting.

a) Glaucoma b) Cataract ¢) Astigmatism d) Retinopathy

3@5{3& wa;cs 55{1033 o waegojag NRERA T B0y &”zsgﬁda@cﬁa TOWD wdos_socf. 83 88 zﬂ.ram%_é
VAVAURR _Aziv ©ZAVjvz.

@) MRIRE[T  ©) BRSO V) VID TIBRER ) TuIpess

MATCH PART 'A'WITH PART 'B': 1x4=4
A B
1. Areolar tissue a) Provides frame work to Spleen
KjAIZEA Agi CAUAA+ UIRP ZEPIEN MzV vz,
2. Ligament b) attaches muscles to bones
VAVAP LA CAATMUYEN 20E%U%U 8AG  Avz.
3. Adipose tissue c) digests toxic substances
Cr¥AEA i CAUAA+ £AdL ¥ZAxOULEN FAED ivz.
4. Tendones d) provides frame work to entire body
JAAIM gdi ErA zAoP ZEPLEN MzV _ Avz.

e) attaches one bone to another

MAZA SAEYAIRER EEEIAZA 2UEYU 8AC vz,
f) avoids friction in joints

eIV PREBODR, LT,
g) acts as a shock absorber

DWAv »AigPzAv 2w vz,

ANSWER THE FOLLOWING QUESTIONS INAWORD ORA SENTENCE
F PUVE ¥aiUhU MAZA ¥z Cx2A MAZA 2iPiz° Gvjt

What is biotechnology ? 1x4=4
etl«P VAveslE JAZgAER?

Which important characteristic feature of selaginella depicts that it is highly
evolved than Riccia ? , ,
. AFETA JOAIIAVAV ©Zi «PA_UEArz JENRIZEN ¥qPj .12 ¥&IR ULE®PTL AiiAaizi?

Ramya experiences numbness in herlimbs due to accumulation of watery fluid, name the disease and
adulterant that has caused it. ) o o “ “ o )
g2y, PIPA®IUY° cAJEAVe z& #iRgu AiilVgialzjAz efl@il »regivz. C2vk Sv@lwgia gAAU
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AiiAalzAi? EzP PAgt2iz P® "gP & _ka£l ©_j1?

10. Why is goiter called an endemic disease ?
UY%UAQ gEAUREN _AoP 2A¢ JAZA KP PgAilivig?

ANSWER THE FOL!_OWING IN 2 OR 3 SENTERNCES EACH
Jgqi 2ivik 2Egh 24APIUY° Gvjt

1. How are ear and throat connected ? What is its advantage ?. o 2x6=12
Q« vl UAI®L CAU _A¥Pd CEAC2? EzJAZAUIR ¥aaEAdERAEL?

12.  Raju resides in an area where not much of lichens are found. List any four health hazards he may be
suffering from ) , , , , o ) “ “
P@I ©EUYA ©ZAV E®z ¥ad+z° ghdh 2A1 iwzAE. C2EL 8Y@Iwg8PizAz £A®N DgEAU: |2 IUYEN
¥n 2jAr.

13. Explain the structure of HIV in 200f 3 sentences.
OZi L « gZEAILEN Jggh Cx2A 2UEgh 2APIUYS «2j1,

14. Mention one function of the following.

a) Sclereids , b) Companion cells
PUPAQRIUY: MAZA PAAIAGZEN wipt
J) 1:giqi ©) ,AUkw FiapEi+

15.  How can vanaspathi in ghee be detected ?
vi¥ze af w Egi«PAIEN @MU ¥v ©Z8§°iaizi?

16. Astudent has uprooted a weed plant in the school garden. The student infers that it is a dicot plant.
Support the inference.
M8 «zAydAill vEI +A~A vEALZ® MAZA Py _ £ "Agh 2@ikv Qvi £EAQ AV Czh ¢z¥% @AZA
WARIADEP §gidlzizg C wARIABEP o2l ¥ifAPgE cir.

ANSWER THE FOLLOWING
PYUVE ¥a))U Gvjz.

17. How does electrochemical fixation take place during nitrogen cycle ? 3x2=6
£imEBET ZP&® «zlivi gh_AAikeP 1jAPgtal ©AU GAmAUivz?

18. Draw a diagram to show external features of fish and label any two parts -
«lhaf Aol gZEAIRER VEA] & avaEl 8gzh AiildizAzgk Jggh “AUUVEN Ulgiw.

19. Draw a diagram of vertical section of human brain and label any four parts. 4x1=4
AAERE «hzhE olvibiz £EAMZ avaEll 8gzh AiilRizAzgE E£AGL "AUUYER Ulgiw?.

*khkkkkhkkkhkkikkkikik
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Model question paper - Il
PART - |

PHYSICS & CHEMISTRY
“EvAL ARAGA AATIEAL A
For Each multiple choice question four alternatives are given. Out of these alternatives choose the

correct answer and write the answer in the space provided 1x10=10

1. M8 CmEARE T i CAUr—iAz vEl 2ie£ag zigll 2iAg®i Qr  uAilEl RjAC AVAE.
D &Q @kA¢gia @icEzogia JAFE

1)  ¥mkkei JAFE 2) rik i JAFEi

3) §»z3°F£ JAFE 4) CAvzd©f£ JAFEi

A person buys a spark plug from a automobile shop. The engine present in his vehicle is
(1) Petrol engine (2) Diesel engine

(3)External combustion engine (4) Internal combustion engine.

2. _ASEEL VAIIAJPAILS G¥ GVEICAz _ASAEIEEN ~A¥Or @k v & & |
a) ,EArAildii ©igheg qi b) . EArAiidii PEAgqi
C) ¥AEPESA d V. ghi
The substance used to separate the soap from the by product during saponification is
(1) Sodium hydroxide (2) Sodium chloride
(3) Animal fat (4) Glycerol
3. rh i JAFEIES rA_ i E£iePi DUiRIZA
a) .AMAQEA @Eqvz PEEAiA° b) .A'AQfA ©£qvz DgAz°
c) TIQPEqvz DgAz° d) “lQeEquz PEEAiL®
In diesel engine diesel is injected into the cylinder
(1) At the end of compression stroke (2) At the beginning of compression stroke
(3) At the beginning of intake stroke (4) At the end of intake stroke

4. PP gVIU%EACU «i+Bblvgia £ VOP gViU%ENL ¥v 2iAr A¥Or @ GX0iEAV, §°iziz «zivi
PAAWAAIA vgAUZ  D3w
1) &P+ vgAUz DawVAv Prai Eg'APA  2) ziUEIAZg “"YQE D2wVAv Prai Eg  APA.
3) ziUERZg “vQVAv ©Zh ajvi JPi-Qgtz DwVAv Prai Eg APk
4)  £hg¥wiv QgEQAv Prai Daiw Eg APA
The frequency of electromagnetic radiation used to detect & separate the real gems Which are mixed
with artificial gems.
(1) Should be less than that of microwaves. (2) Should be less than that of visible light.
(3) Should be greater than that of visible light & less than that of X-rays
(4) Less than that of ultraviolet waves
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10.

11.

QBémi DIUAg 2BeAAVEL J_ z ZArE 2AUREN CUAIN®L GY¥AIELV, 89lzAz _Az£
a) SONAR b) ghgigi UEi  ¢) ECG d) RADAR

The device used to find the velocity of a ball bowled by cricketer Srishanth

(1) SONAR (2) RADARgun (3) ECG (4) RADAR

M8E 8mAii°gi® D«MAIA PTAIREN VUAII®L EzA AP

a) EArAilaii ¥A«imimi b) . EArAiiaii N°Ailimi

¢) . AArAidii giq, i T Ami d) | EArAikaii 2AAikgAmi

Which of the following is used to remove acidic stain on clothes

(1) Sodium palmitate (2) Sodium oleate (3) Sodium dodecyl sulphate (4) Sodium stearate

TP «zhivi ARgz° TEQAEIE | g¥dU% PEgQv GAmizg DU ¥juAi

1) QaidPAj &AL kvz 2) P Q&g c®ivz

3) U8 zee vz 4)  «zhvi Prai GwwAiiAUivz

In a nuclear power plant the scarcity of boron rods results in

(1) Bursting of reactor (2) Nuclear reaction is completely stopped
(3) Melting of core (4) Electricity generation decreases

aj gz VAiiAJPAIL® 1Az UADEN G¥AIZAV @k PAgt

1) Cviz ¥igzzopPaivgialzh 2ivi caf 2Qks2f £ZAP Egidizi
2) THP «Qgt »Agidizi 2ivi Cviiz ¥igz+oPaivgiaizi

3) ©af 20E2E _£ZAP Egidlzi 2ivi P «Qgt »Agiaizi

4) ©2af Mvg2£ll vgAilidizi aivi Cviz ¥Agz+dP2Avgialzi

The reason for using lead glass in the preparation of lenses is ,it is

(1) Highly transparent and has high refractive index

(2) Absorbs radiation and highly transparent

(3) Has high refractive index and absorbs radiation

(4) Withstands high pressure and highly transparent

ZAz#iAE-1 P ozASE PEQRL G¥AIEAV1Z «Qgt

1) X-Qgt  2) C2PA¥ Qgt  3) £igvdwAv Qgt  4) _EP:vgAU
The electromagnetic radiation used to direct chandrayana-1 is

(1) X-ray (2) Infraredray (3) Ultravioletray (4) Microwave

MAZA CUAR®Pi | AAIMP 2 i«E CtivAP 78. Czg°gia 24E®2 UYL EAUA™ @ivi d®JEP Dzg, Czg
Cth, Evee

a) C4H10 b) Ce H14 C) Ce He d) C12 H26

The molecular weight of an organic compound is 78, the elements present in it are carbon and hydrogen
,then its molecular formula is

a) C4H10 b) Ce H14 C) Ce He d) C12 H26

Fill in blanks/©1 % VviA©1j 1x3=3

MAZzL ~ERC2El PA-A1zAU Czg ghz —----- DUlvz
When a metal is heated its resistance
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12.

13.

14.

15.

16.

17,

18.

19.

20.

+oAil GAUlg gZEAIRER whAil®E | Az2Avgialzi ¥julaicAz

The effect that helps us to know about rings of Saturn is

£AGN oigEbdfi OAdUYA | «A®EUEAQA MAZA »A°Aiidii ©Ad2AV +Q ©qiUgAiiAUidizi

LO¥Y%  QaslAiLe

The chain reaction in which four hydrogen nuclei fuse into one helium nucleus with the liberation of
energy is

OFACt 8g.
A B
1 Ji'f/ILPG FyA£i/Ethane
2. 1IEiFICN.G £Ag . g¥t/Straight chain
3. L, /&A ¥AmA£i/lso pentane Fxi i 2igiPA¥£i/Ethyl mercaptan
4. ¥hig ' £i/Paraffine CH,.,
CSHIO
CH,
CH,
F PUVE ¥aUhU MAZA 2APi 2~ Gvj?
Answer the following in One sentence 1x6=6

PiAZAGRIR 8® JAZQAER ?
What is centripetal force?

.2v® g, Ail wglE® g AilEll @AU gatgivig?
How does the roads are constructed at the bends on a level road?

.Eg CrU M Ail ¥nUU UAFE 2liZY%«givz. PAgt PEr.
Solar cooker is covered with a transparent plate of glass -Give reason.

O8QEE cAildi2El ogElL,
State Hubble's law.

el£idAghUvEN _APia 20 +Q OPIIEL ¥j<j [@izP A8AZ¥IAv VUZIPEY§PlzAz PEH2AAEL ?
Write the remedial measure that can be taken by a cattle raring person in order to minimize the energy
crisis.

oAJ£ Ug, AVEP PAgt@Az AiiAdlzAzgE 4 ®@2EUVEN ©_j2
Name any four salts that cause hardness of water.

F PUVE ¥a) U Gvj?,

21.

r.1, aEAmAgiE ava®rt “AUUYER < j1. 2x9=18
Draw a neat labelled diagram of DC Dynamo.
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22.

23.

24,

25.

26.

217.

28

29.

30.

31.

J1. giE2EA 3ivh r.1 giE2EUY: £qgi«E Jggh 2ivA | ULER wh?,
Write any two differences between AC Dynamo and DC Dynamo

F PUVERIULER ©_ j1.

L ¥g2ikth«E E PPAiA°Z E PAEI E, PPU FVAIME Qadk

2. ¥g2iAth«E E, PPAiA°z! E PAEI E, PPU FVAIM= Qéah.

3. ¥gRACIUZED Praf +Q tw—iAz CCP +Q 1wU Kj i ¥eadl

4. ¥gRAtIUZER CCP +Q 1wU Kj ®h “"AC 2ERUYKAZ +QAIEN MzV 2 ¥oadl
Name the following process

(1) Inanatom, an electron from an orbit E, raises to an orbit E,

(2) Inanatom, an electron from an orbit E, jumps to an orbit E,

(3) Atoms are raised from lower energy level to higher energy level

(4) Supplying energy from external source, to raise the atoms to higher energy level

gArOi/A UARPZ “"APi £P Or1
Draw the block diagram of a simple radio receiver.

WLTFTI ONOZT ITWE BRETTJ), ARWIT OB WIB, WRAD.
Draw a sketch of external combustion engine showing exhaust stroke.

d2Id£i % @kvik PAZA ERIUVEL vAiiAj, ®L "APAUI® WIPUYVEN, F PYVERU%AZ DJL 8§g-ij.
vidige Vi, v®g, ©P i

Choose the components used to prepare german silver and bronze,from the following

Copper, Zinc, Tin, Nickel.

1oPAET PAOQIEN @AU ¥qAii§2izA? | «MPgtzAACU «&j1
How silicon carbide is obtained from silicon? Explain with the equation

¥icaljirgt JAZgAER ?F PYVERIUY, 2ELEARIGIUYLEN ©_ 1. 1) m¥AET 2) £F AL

What is polymerization? Name the monomers of the following. (1) Teflon (2) Nylon.

Ug. A ohj£ Jggh CEAEIPARUYEN wht
Write any two disadvantages of hard water.

F ¥a#)»U Gvg 8g—ij/Answer the following questions

UselAil Z®EU _ABAGC1zAv P¥gE 2MEgh cAil2IU%EL §g—Aj 3x4=12
State Kepler's three laws of planetary motion..

ofd| alzighzg F PYUWVE Az "6z° Aiil2 L_EAmAR¥i 8% aQvAIAEl PEQi«].

C) M8 2&(Q PAfginAz 8Yi®lwzAE D) M8E xigA—iqi Uty HEPEArzi, Y@tV PiApv@Avgivz
Imagine that you are a doctor by using which isotope you will treat.

(1) Aperson is suffering from Cancer (2) Growth of a person is retarded due to bulging of Thyroid gland
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32. a) gASho_gt gEh»v2El ©AU ¥qAilgeizi ?
b) gARUET ¥JuARIPE, g™ ZzAgh«PUE Egi® 2ivA_UYAEL ?
a) How can we obtain a line emission spectrum?
b) Write the differences between Rayleigh scattering and Raman effect

F PYVE ¥a)»U Gvg 8g—Aj/Answer the following questions.

33. “HFP «zhivi _ARgz CAz@Az ava8gzh AUUVEN Ulgiwtj.
Draw a neat labelled diagram of nuclear reactor and label the parts.

34. KPPAv gAPmif §z®) §°iCAv gAPmiUY%EN G¥URUY: GgARuUAil® G¥AIEAV  ®i PAGERAEL?
gAPAMIE GgA2uAil® Ui, APAz 2 @@°ijp CAxUvARIA| 2 4x3=12
Why multistage rockets are used to launch the satellite instead of single stage rockets?

Write any two practical aspects need to be considered while launching a rocket.

35. vgz UIZ 2ivii UEA®AIA UAZU%Vgia 2 2vk UY%ER wht, F PYUVERIUEN «2j1
1) +hv PA§ 2) PA¥ZiVi
Write any two differences between open and globular star clusters. Explain the following
(1) White dwarf (2) Red giant

36. HzIPiei2iAil CAz2Az ava®r® AUUYER ©_ J1. Pi®iiAil “"Ag —"Ag Jvgzegi@ vi¥a£l Ulgiwt
Draw the neat labelled diagram of blast furnace and mark temperature range at different heights inside
the furnace .

Fiedi A

8Ok DAIMAIL ¥aiJYi
For Each multiple choice question four alternatives are given. Out of these alternatives choose the
correct answer and write the answer in the space provided 1x5=5

1) F .2l D3av oid, P GzAPguAiilvz
1) . gEAUgA 2) ¥BEAJAIIA 3) IPAT 4) zh, 24y,
This plant is an example for Angiosperm
a) Spyrogyra b) funaria ¢) cycas d) hibiscus.

2) F PYUVERUY° vivid ¥J1wAil CA2ERET EzAVZ
1) EEi A°Ei 2) XighAQEi  3) Cr&°£i 4) " yAEUAIL CARERSET
Emergency harmone among the following is
a) Insulin  b) Thyroxin c) adrenaline d) Growth hormone.

3) '¥ghawdv ¥aedaei'Ail oRg 24! Ailk EzAVgivz
1) YadmiU vP ¥&EAZE 2) ¥&EAZEU VP ¥adtal-eALAEL "2 CEAvg
3) ¥&EAzE 2Ez®L eAfl 2z £Avg ¥admel 4) eAfAEL 2 AEz@EI ¥&EAZE 2ivi ¥adadl CEAvg
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This is the scope of reflex action
a) stimulus to the response b) response to the stimulus before getting experience
c) Stimulus first; response after getting experience d) experience first, Stimulus and response afterwords

4 ©OZil.«Aili gmEsdig, i DVgivz KPAzg
1) ©ZiL.«Ail® j2,id mABO¥ET £qAillvz 2) ©ZiL.«Ail° mABDEEET £qAilivz
3) ©OZilL.«Aik® j2,id mABD¥ET £gAIMRIC® 4) ©ZiL.«Ail° mABD¥EET £gAINRICE
HIV is a retrovirus because
a) It undergoes reverse transcription b) It undergoes transcription
3) It doesn't undergo reverse transcription. d) It doesn't undergo transcription

5. C¥gACAIAEN ¥v ©Zia° el«PvAvesl£z F « AU aRg2AV | CAAiP2AUS®ZA
1) vievAvesiE  2) CAUAA+ P 3) “"g%zZh VAVesA\E  4)  vzER
The aspect of biotechnology which helps in the detection of culprits in the forensic science

a) Genetic Engineering b) Tissue culture ¢) Finger print technology d) Cloning

6. CEACL 8g—ij 1x4=4
A B
1. 2zdE CAUAAZ ofgh 2ivi DPAg _AUse i CAUAA+
Meristamatic tissue water and food storage tissue
2. PE®A gPP CAUAA+
Xylem Protective tissue
3. ¥Chikaii DzAg CAUAA+
phloem Supportive tissue
4. ¥hgAPIRiA “"y,2€UPAgP
Parenchyma Growth tissue

ohgEll »Agha CAUAA+
Water absorbing tissue
DPAg2EM AV, A2 CAUAA+
Food conducting tissue
oAgfll AV k2 CAUAA+
Water conducting tissue

F PUVE ¥aUhU MAZA @2APiz° Gvjt

7. 2AEREL Pxigip KP ? 1x4=4
Man is a Chordate why ?

8. AAEAE £0giQ« 2hvi CEgQ«Uy° 2MAiM«E Mvg KP ¥g g . 2iA2ivg APk ?
Why should be the air pressure in middle and outer ear equal in man ?

9. P® "gPUEY%UAZ DPAg ¥zAxdU%Az GAmAURR Jggh PA-A UY%EL ©_ §2.
Name any two diseases caused due to the consumption of adultrated food.
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10.

el«P VAveslEz 2ASAIAEL 8g. 2x6=12
Define biotechnology

F PUVE ¥a) U Gvj?,

11. _.ighdiz® D3v ©Ad _ IU%EN Cw ©Zh «PA_2E£l ©EACZ _ _IU%AZA KP PgAii Avz ?
Angiosperms are considered as the most evolved plants in the plant kingdom why ?

12. PE®A 2ivi ¥CAAiRiUY gl °VIAET OWAIMP FARPAA+UYEN ©_j A
Name components of xylem & phloem which have lignified wall.

13. DTOTIRT LRI 3T D) DBIND ézs@ddoé NSEIS V] m@@ﬁoé%oﬁw Ien ézsgrb:icﬁ 9
How does the intelligence of man increase as thickness & convolutions of cerebral  cortex increase ?

14. KqiU viviz 2QU £E2/EAAIL 8AZAU Czi KP Ult2iUidle® ?

Why pneumonia is not cured in an individual suffering from AIDS ?

15. DPAgz PR "gP JAzgAEA ? DPAgz P® "gPAIAEN vqAil®L PAdg2l PIPEAQ Jgqh PEHUYA AiiAaial 2
What is food Adulteration ? Write any two precautions taken by the government to control food
adulteration.

16. EAUA®Zz ZPa¥j¥(Ctd ZPax ®k PAgtA Evaiz 2igizQsRgtz CAVUYA Aiilaial ?

What are the different stages of recycling which are responsible to consider carbon cycle as perfect
cycle ?

F PUVERUYER Gvj1 3x2=16

17. A& vqz avaEll Ort AUULEN ©_j A
Draw a neat diagram of mustard plant and label the parts.

18. F PUVERIUVENL ¥J¥Ctd 2ivh C¥j¥Ctd Fiagh AAiloP ZPEXEAV 2VASPjL, CRIUYEYVE MAZA
YaiR avA, 2£0 8g.

1) EAUARZz ZPae 2)  Agd£Pz ZPee 3) gAdPz ZP= 4) UAzPz ZPaz
Classify the following into perfect & imperfect biogeochemical cycle and write one main difference
between them.
a) Carbon cycle b) Nitrogen cycle c¢) Phosphorous cycle c) Sulphur cycle
19. 2jAF2E ajzinE olibizz avaEll Ort AUUYER ©_j2

Draw a neat diagram of L.S of human brain and label the parts. 4x1=4

*khkkkkhkkkkik
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Model question paper - 111
PART - |

PHYSICS & CHEMISTRY
TEvAL ARIVAGA ANTKEAL A

For Each multiple choice question four alternatives are given. Out of these alternatives choose the
correct answer and write the answer in the space provided 1x10=10

F PUVE ¥alUAz _jAiiAz GvgUY%eEl Djt 8g-ij.

D

2)

3)

4)

5)

6)

Ccay £Ugz Jggh UUE ZIAO© PIqU% £gi PAS T mi& A, "APAVz. D PIQUY% £qi«E zAg2EN
oRg2AV CYAil®L CE-A, "APAZ wv

1) gArAiZA bAAIAOASE 2) A gi gMAFAUI VAVES\E

3) zhw«zhvi ¥juhai 4)  gh¥gi ¥juhRi

Two multistoried buildings in twin cities are to be connected with a cable trolley. Principle applied to
measure the accurrate distance between them is

(1) Radiography (2) LASER Ranging (3) Photoelectric effect (4) Doppler Effect

CHOZTBRINT TWHONYS DRR[T, TY BPIFNT. 83 FAOLF T, WITWTHIT LIBY08e0H STON
1) ghrAiEA  2) C2PA¥l  3) Cw £ig¥s  4) JPi-Qgt
We have to detect a flaw in a machine. The electromagnetic radiation used for this Technology is

(1) Radiowave (2)Infrared ray (3) Ultraviolet ray (4) X-ray

AiliP ¥&Atz° EAzZE 2lvi UMAIMEN «i+xa@ilgia JAFEIE ~"AU

1) Y. £ 2) PATEASGANgI  3) 1°Aqgi  4) “AAilgi

Part of the petrol engine where the air and petrol are mixed in proper proportion is
(1) Piston (2) Carburetor (3) Cylinder (4) Boiler

NWF H08T IY 33 pn ARHTT Sedeod BOBOW PRRBWOIWN TOTEFAORBOY
1) PAERSgANgI 2) AMzBe  3) @PaAq  4) ghrAildlgi

In a heat engine without this part it is not possible to convert linear motion into rotation
1) Carburetor 2) Condenser 3) Crankshaft 4) Radiator

alzigh gEAVAIL U 8PEAZ £ UqAil OAS2EN ¥gAil®L 8Y_ AizA

1) £Agviwiv «Qgt 2) JPi-Qgt  3) UARiA-Qgt 4) +&uhwiv vgAU
Doctors use this to get the image of fibroids of uterus

(1) X-ray (2) Gammaray (3) Ultravioletray (4) Ultrasonic wave

F PLUVEAIUYS AiiAdlzA E®CZIg “HFP QaiAPAJAIM vPE ¥g2iAth ~"AAOEAV _£n vz
1) cAilAvae | g¥i 2) 3jAzP 3) gPA P2z 4) vA¥PAj
If this part is not present in the nuclear reactor then it might function like a nuclear Bomb
(1) Controlrods (2) Moderator (3) Concrete shield (4) coolant
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7) 2iAiliRiA°EREN vgAilld Gzt @EACgiaagh CqiUU 8% A2 EAzE
1) 1h2i Ju  2) PnU 3) z& ¥mEBBAIIRII Co® 4) ‘gt
To prevent the air pollution, one can use this fuel
(1) Kerosene (2) Wood (3) Liquid petroleumgas (4) Dung cake

8) wBnedecadier mum, Boleen TECHY WTCIRNTLY  FVTTIE VTT LIFTD
1) sem@ocs, AW 2) Ozigy  3) ¥igz+dPv  4) GZ 2QEgt  EZAAP
Which property of the borosilicate glass is the reason for using it in laboratory?
(1) Withstands high temperature fluctuation (2) Brittleness (3) Transparency (4)High refractive index

9) 2iAdoPz CE¥AQAv Uit
1) efa 2y°jpil@ivgialzi 2) D«MAik @iAz@liz° | Z UKy kalzk
3) Ug.h ohjE£ | ZUEY, kalz) 4)  ef22y°jpilaivecgiaizi
One cannot encourage the use of detergent because of this property
(1) Biodegradability (2) Cleaning in acidic medium (3) Cleans in hard water (4) Non Biodegradability

10) M& «zAydU VAVE Ju, ,EArAilii ©ighedqi, , AArAildii PEAgiqi ERIULEN ohq AVz. E@U%AZ
C2£h VAiiAj, §9izAzzN

1) rledAmi 2) . EArAilaii ThAikgAmi

3) ¥CAmAAiARTT ¥A«hmAmi 4)  EArAilRii PA EASEAMI

Coconut oil, Sodium hydroxide and Sodium Chloride are given to the student, Using these he can
prepare

(1) Detergent (2) Sodium stearate (3) Potasium Palmitate (4) Sodium carbonate

ongia eAU2£El viAO]
11) gAdPz ¥gRiAtiU%EN 1°PAET ©g%U “"gP 2iArzAU DUI® Cg2i°Pz «z ---- 1x3=3
The type of semiconductor obtained when silicon is doped with phosphorous is

12) _KEAEAginAz ©&gl +&ulwiv vgAU _2lizae vY2EL vRAY, Ye¥®EUEAQh UARPREN 3 PAQAUY®
Ajzg, 2z DY ------
Ultrasonic waves are emitted from the SONAR. These waves are reflected by the ocean bottom and
reach the detector in 3sec, The depth of the ocean is

13) _Eg M Ail MU ©Zk +AR | AUSRAUIRAV 2iigia “"AU
The part which helps to store large amount of heat energy inside the solar cooker is

14) ©EAC1 §g 1x4=4
A B
1. CH, £E,\(6P Co®z 2MR: WIP/Main component of natural gas
2. C,H, D kEi/Alkyne
3. CH, LAEAEAIMP ©tgAERASOEI/Aromatic hydrocarbon
4. CH, L. AA ©PAEi/Iso hexane

PA""/EAD _FQPT ©iq/EARASDEI/Carbocyclic hydrocarbon
z& ¥mEBBAilRiT Co®z 2MRi WIP/Main component of L.P.G
Cx1°£i/Acetylene
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15)

16)

17)

18)

19)

20)

21)

22)

23)

24)

25)

F PYUVE ¥aiUhU MAZA ¥z Cx2A MAzA 2APiz° Gvg 8g-ij
Answer the following in One sentence

_An¥giei JAzgAEL ? 1x6=6
What is centrifuge?

JPTT 2AgEl wolal ¥xz© z° _i@AU PAAzae PqU KP “TAUAVAE ?
Why does a cyclist lean towards the centre of the curve while moving in a curved path?

.Eg @Aviagtz Jgqh “TAUUYA AiiAaial 2
Which are the two regions of solar atmosphere?

20 Fpeer, QNI THEONLD APTTHEONP2WTBT F0.Q0eT DI, ADTD"T FTIRCINYDY, wpeRT 3w 7
How many silicon solar cells of 2 sg.cm. area are to be connected in a solar panel to produce 20v?

M& 20 2&mAgi tPif SYPAIAEN u°1 [PREN 8Y AVAE .F PB2EN Evggh CEA, j1zAU AiiA2 «zz
+0Aik 2ME®@z 2IA°£ Mvqg PrajAiiiUivz ?
A person starts to use bicycle instead of a motor cycle.lIf others also follow this method then pressure on
which source of energy can be minimized ?

“hilgilye  waAV Uq A ohgEll 8Y% kalzjAz AT« 89kzAz C¥AAIL AiiARizA?
What are the possible harms occurring with the continuous use of hard water in boilers?

1) _AgiuU ©EACPEAQ PhAv, _ights _Avia @iUze ©AUE CzA ¢QE° _iviwghaAU ¥y «zhvi
ZA®P &8 GAmAUCgialzP PAgt PAQA. 2x9=18

2) ¥hpv «zhvABP 8§z 2l Y@@ Olgia CA+UvA Aiikaia) 2

1) A magnet and a coil are moving in the same direction and with same speed e.m.f is not induced
in the coil ? Give reason.

2) What are the factors influencing induced e.m.f?

r1 gif2fiz ave®rt. AUUYER ©_j2
Draw a neat labeled diagram of DC Motor.

aizohAik Pivae £igviwiv «Qgtz Jggi G¥AIEAUYEN §g—ij.
Write any two uses of Ultraviolet ray in the field of medical.

mieg gif Jggh «zUY% 2IAQ® , APAVUY, ava®rij
Give the circuit symbols of two types of transistor.

¥mAkei JAFEIE “IQ @Equz ava®rij
Draw a sketch of intake stroke of a petrol engine
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26) 0w 3nR. 1) YRS 308NY F03WOIR FFReRTFIY, WIRTYT. 2) $30 SoIROWION WIF, o
JAj L ivAg.

Give reason for each of the following (1)Nichrome is used to make heating coils (2) Copper is mixed
with gold while making ornaments

27)

NP 1°PALIEEN ©AU ¥gAik AUlvz ?_ «MPgtzAACU «2j A
How is crystalline silicon obtained? Explain with the equation

28) UAFE Co®E JAzgiEl ? EzjAz DUid CEIPE®V KEI ?

What is annealing? What is its use?

29) chj£ AgPuAil £ARL PRUYEN 8g.
Write four methods of conserving water.

30)

31)

32)

33)

«+24i! Ulglv oAil2ia£l ogkEla, 3x4=12
Ulgiv cAil@i¢Az 20¥dP2AV «2f ®1 £A®L CAXUYL AiiAal?

State the universal law of gravitation.

Mention four points successfully explained by it.

gEA»v z+dPz° SEUY CECRA¥EAIAEN ©AU Pra} Aiiilivz ?

TYQE 2td« "dEU PAgERALL ?

Boeeass wEOD zsgeﬁ D) WAV F DETRPOT TBRTOINT TRek3T NFN 0w ?

How can overlapping of colours in spectroscope be minimized?

What is the reason for dispersion ?

Mention the type of spectrum obtained by candle flame and light emitted from gases or vapours.

F PUVE Az "8U%° G¥AIEAV ®qgia L EAmARYIUYEN © j1

D)
2)
3)

¥YAIMYP +A_ doU zEgv qiEAA Ag,TE ¥YAIMBPAIL 2L £1 whHAIGH
RTEO IoiwoBAE BROCDH BOFOZBI), $L0HLD
PH «ehaU ghV ~%U AiiA2 jAwAiA ¥A_Amif CUviczAilzi PAQAPEY®A

Write the name of the isotopes used in the following cases

1)

To find the age of fossil of Dynosaraus
To study the action of medicines
To determine the kind of phosphate required for Ragi crop.

LO¥% «ZYE QadlAIL ave®r EEMAGE 2ivi «zVE 2MglPAUY%ER Ulgiwt.,
2000 VW DTYTOOT 2 SRLHIND ARWNRBRTY 3Ze BOIT ATYITY DT, SRLBIAWD
©qiUgAiiAUlva?

Sketch the diagram of nuclear fission reaction and label neutron and fission fragments

a)

Calculate the number of neutrons liberated in the third stage of nuclear fission reaction liberating
two neutrons when a nucleus gets fissioned
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34) 1) Ay G¥U 1g2iv UEAZj . ®L PAQERALEL ? 4x3=12
2) TELg GYURUY _A¥Pdel®UvAZ dUvi QjzAVZz . 2ixdE ohr.
3) PPA @iU ajvi «2EAZE 2iUUY% £qi«E _A8AZ 8g-ij.
1) Why does geostationary satellite appear to be stationary?
2) "Communication network of geostationary satellite made this world tiny". Justify this statement.

3) Write the relation between Orbital and escape Velocity

35) vidiae HACAPgEP G¥AIEAV 2 «zlivi « "df PEA+z ava®rt, ~AUUYEN ©_j2.
Draw the sketch of electrolytic cell for purification of copper and label the parts

36) 1) «oESe 2oInPI IFZR) TS WOSTIT IFIHOT O, Ted), TR TFITWHTWONG ?
2) E£PvB: «OFf) UEAZg ¥Bé+P PAgE2AEL ?
3) £APwBe«PA_ z° PPEEI ©Av &jvi 1glw ©Av ©AU GAmiUivz.
1) How many times a star of magnitude 2 is brighter than a star of magnitude 4
2) Why do the stars differ in their apparent brightness?
3) Explain how the cocoon and steady stage of a star occur.

Fiedi A

For Each multiple choice question four alternatives are given. Out of these alternatives choose the correct
answer and write the answer in the space provided 1x5=5

1) F PUWE _ IU%° OleAtid£P 2ivi °AUAEA dEPUY%gQh  vAvalvgia | |
1) DRvOAd |, iU%A 2) ¥zl Uvh  3) CEARv OAd,  iUvA  4) SaeEAmIUYA
Which among the following plants have independent Sporophyte and gametophyte.
A) Angiosperms B) Pterydophytes C) Gymnosperms D) Bryophytes

2) J2.i6 mABIQ¥ET JAS QasiAiM EzAVgivz

1) r.JEiJ —iAz Dgi.JEIJ VAiidj 2) Dgi.J£i.d —lAz ¥CedE£if VAiiAj
3) Dgi.J£id —Mz r.J£EiJ Ail VAiiAj 4) r.J£iJ CtilY% ¢¥ePgt

This is the reverse transcription process

A) Synthesis of RNA by DNA B) Synthesis of protein by RNA

C) Synthesis of DNA by RNA D) replication of DNA molecules

3) @ALRE 2izWi8%h—MZ K¥dqgia ¥ghawdvzA¥z 241U §gia WIPUYS E&l PEQ _Aj2
1) eAf2i» £gUYi 2) Qagiiah» £gUY
3) eAf2i» £g2UE® Rilvee 4) eAf2h» 2ivi Qadilai» £g2MERUKAZ _AAIEAFVRAZ «l+BrUYil
Reflex arc produced by spinal chord of man also includes these components
A) sensory nerves B) motor nerves
C) onlythe sensory roots D) mixed nerves produced by the combination of sensory and motor roots

4)  ¥MEgi AAIEAFV r.J£i.J vAves\£2l Ezg EE£EIAZA ©_ gAvz
1) vivAveslE  2) ef«P VAvesiE 3) CAUAA+ Pl 4) “"g%ZA VAVes\E
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Another name for recombinant "DNA Technology" is
A) Genetic engineering B) Biotechnology C) Tissue culture D) DNAfingerprint technology

5) .20 eAfAACARIUY: eAE2ACP £gUY% DC 2ivi CAVIUYA »AVgiva
) o0 - IS OFF WYTEES; ©0Z, — IDFF WPFoQOH
2) ©0 - JQFF pFeoton; BOF — DWII IDFF WITLCE,
3) ©0 - DWWII IDFF WFLE; WOF, — IJowoh JINFH WFoOQOD
4) =0 - e38T; @0323 - dOFR mﬁﬁeo@oﬁa
Origin and end of sensory nerves of all sensory organs are as follows.
A) origin - specific sensory area of brain; end - specific sense organs
B) origin - specific sense organs; end - specific sensory area of brain
C) origin - specific sensory area of brain; end - specific related sense organ
D) origin - Medulla oblongata; end - specific sense organs

6) ©EACT §g 1x4=4
A B
1. KjJAiEA Agi CAUAAL/Aerolar tissue CE£faP , AAIMUYY involuntary muscles
2. ¥m _»v _AAiMUY/striped muscles PP FAAPEA+UYEN ©£ACz/intercellular space
3. ¥Ami mi/platelets LaP _AAiliUYA/voluntary muscles
4. DPAEi/Axon gP ©¥iUA«PU _2AAiiP/clotting of blood

“EdA CAUAA+/Adipose tissue
AAiA° £l ©£¢z/Myelin sheath
gAq#eni/Dendrite

7) AiilizAzgk Jggh xA®_TAIMP | U%ER ©_§1 1x4=4
Name any two plants which are having thallus.

8) zhwgA AAikoP _AUI 2ivi DRi2U%A KP 2UEIPIOP +A¥ Jo1a 2
"Photochemical smog and acid rain are curse to man kind" why?

9) “"gWzZh vAves\Ez Aiil2lzAzgk MAZA CEAINREN §g.
Write any one of the application of DNA finger print technology.

10) Vi¥zEACU _ARAERAV «ix8EAgia PR "gP ¥zAxdAl AiildizAvz ?
Which substance is mixed as a adultrant in ghee?

11) xighQEi 2hvi Cr&e iCAREASEIUY: MAZEAZA PAAIADREN §g—ij 2x6=12
Write one function of hormone Thyroxin and Adrenaline

12) 2iAL2E PLECQGI® ©YU¢ ¥a+ 2ivi CAz¥aE+UnVgia Jggh ¥&IR 2V U%EN 8§g
Write any two differences between yellow spot and blind spot of human eye.

13) 2iA£2£ Dgkiliz 2 YaPE® ¥JulriUY%EN GALRIAgR ««z 2IACEULEN ©_j A
Name the different types of pollutions that effect human health.
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14) JZilL.« &ivh ©Zi0.«U%Vgha AiilRizAzgk Jggh ¥a&HIR VA UZER ¥n2idr
List out any two main differences between HIV and HBV

15) F PYUVERULEN g% +Atv CAUAA+UYA 2ivi  AQAES +i+v CAUAAUVEAN 2VOPj1j. ¥AgAPIaiA,
Pi®A, ¥CAAikRii, PAA APEiA
Classify the following into Simple permanent tissues and Complex permanent tissues.(a)Parenchyma
(b)Xylem (c)Phloem (d)Collenchyma

16) F PYVERUYLER 2iEgh 2ivi £AGL PAAUUYAY: CizAIKREN CEACZ ¥ARUVEAN 2VASPJL ]
1) P¥  2) ¥Aj2iy 3) .¥d 4) Ajpg2
Classify the following vertebrates into three chambered and four chambered heart bearing animals
(@) Frog (b) Pigeon (c) Cobra (d) Man

17) A& Egh AAikoP ZPBYEL ¥j¥CED 2ivh C¥J¥CEd ZPEAV aVASPJ Aa° AU 2UE®, «o@fAil
ajf® 1jirgt 2ivi 2igizQkegtUyi AU DzAgP CAUvAV2 ? 3x2=6
How are Reservoir pool, Exchange pool, fixation and recycling Considered as the basic factors in the
classification of biogeochemical Cycles into perfect and imperfect cycle?

18) «Mof "A°i gZEAIREN VEAJ A2 avaEl §gzh TAUUYER ©_j1j
Draw a neat diagram of external features of a fish and label the parts.

19) 2izii8%AIA Cqblz ££A1Zz ava@gzh "AUULEN ©_j i 4x1=4
Draw a neat diagram of cross section of spinal chord and label the parts.
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